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1)0.37 = 037x[|= D
2)0.02=0.02x[__|=[__|%)
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(1) 100,37
e (2) 100,2
ZE (3) 100,50
e (4) 100,75
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1) 0.37 = 0.37 x 100 = 37(%)
2) 0.02 = 0.02 x 100 = 2(%)
3) 0.5 = 0.5 x 100 = 50(%)
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SANA 2A17F 127 FF LIHEE 102.5kg AU T} g A7t
DTS oF H kg4 Al Q1A Hh-EEoto] 4 AR 2 7R
TSI Q.
> = kg
> HE D oF46.6ke
2A1F12 & = 2% A7k =22X7F

102.5+2.2 = 46.59 - - - — 2F 46.6kg
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2 A|ZF15 B=225A]7to| B2
230 + 2.25 = 102.22--- — °F 102.2(km)




3 ] olvk sem€l Aol Sl 2 we) Pl 30%
CEDELRE s EREERE BEREEESELE

o] FAtzEg el Wol 1 8 x 8 = 64(cm?),

EQ AAARP Y 3 B9 o] 1 8+ (8x0.3) = 8+24 =
10.4(cm),

5ol A o] Yol © 10.4 x 10.4 = 108.16( cm?),

Yol &} @ 108.16 — 64 = 44.16( cm?)
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